ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024031

	TRAC	S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
072	LA 020	F063901C	072-A-(205)T	103685	LA PAZ	SOUTHWEST	10		Yusuf Kadem

Highway Termini Location Work Description

[•] JCT. SR 95 – HOPE HIGHWAY (SR 72) • NW OF BOUSE TO SE OF BOUSE

Pavement Rehabilitation

Printed: 7/25/2025 Page 1 of 12

BID RESULTS FOR 2024031

Bid Opening Date: 6/13/2025, Prequalification Required, Engineer Specialist: Yusuf Kadem

Completion Date:

185 Working Days

The proposed work is located in La Paz County, on State Route 72 between mileposts 20.44 and 30.00, in Bouse. The proposed work consists of milling and paving the roadway, overlay and chip seal, install new cattle guards, installing new fence, installing new pipe end sections, installing new ford walls, removal of woody vegetation, installation of rumble strips, applying seeding, placing riprap, installation of signs, pavement marking, and other related work.

Bid Rank	Compared To Department Estimat Option	# Bid Amount	Contractor	Extended Sum of Items
	+%	\$9,224,008.65	DEPARTMENT ESTIMATE	\$9,224,008.65
1	-10.2%	\$8,279,862.90	FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504	\$8,279,862.90
2	-3.1%	\$8,937,777.77	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$8,937,777.77
3	+1.0%	\$9,313,345.00	SUNLAND ASPHALT & CONSTRUCTION LLC 1625 E. NORTHERN AVENUE PHOENIX, AZ 85020-	\$9,313,345.00

Winning Bidder is 10.2% Under Department Estimate (Difference = (\$944,145.75))

Printed: 7/25/2025 Page 2 of 12

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010030	EACH	REMOVAL OF WOODY VEGETATIO	N			
Bid Rank	Department	t Estimate	66.000	\$750.000	\$49,500.00	
1	FNF CONS	TRUCTION, INC.		\$690.000	\$45,540.00	-8.0%
2	FANN CON	TRACTING, INC		\$425.000	\$28,050.00	-43.3%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$675.000	\$44,550.00	-10.0%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRE	ETE PAVEMENT			
Bid Rank	Department	t Estimate	2,806.000	\$20.000	\$56,120.00	
1	FNF CONS	TRUCTION, INC.		\$15.000	\$42,090.00	-25.0%
2	FANN CON	TRACTING, INC		\$8.000	\$22,448.00	-60.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$5.500	\$15,433.00	-72.5%
2020041	L.FT.	REMOVAL OF PIPE				
Bid Rank	Department	t Estimate	25.000	\$150.000	\$3,750.00	
1	FNF CONS	TRUCTION, INC.		\$125.000	\$3,125.00	-16.7%
2	FANN CON	TRACTING, INC		\$180.000	\$4,500.00	+20.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$160.000	\$4,000.00	+6.7%
2020053	EACH	REMOVE (CATTLE GUARD)				
Bid Rank	Department	t Estimate	5.000	\$5,000.000	\$25,000.00	
1	FNF CONS	TRUCTION, INC.		\$7,000.000	\$35,000.00	+40.0%
2	FANN CON	TRACTING, INC		\$5,500.000	\$27,500.00	+10.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$9,500.000	\$47,500.00	+90.0%
2020085	SQ.YD.	REMOVE BITUMINOUS PAVEMENT	(MILLING) (3")			
Bid Rank	Department	Estimate	173,235.000	\$2.500	\$433,087.50	
1	FNF CONS	TRUCTION, INC.		\$3.000	\$519,705.00	+20.0%
2	FANN CON	TRACTING, INC		\$4.000	\$692,940.00	+60.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$3.250	\$563,013.75	+30.0%
2020101	L.FT.	REMOVE FENCE				
Bid Rank	Department	t Estimate	15,012.000	\$2.000	\$30,024.00	
1	FNF CONS	TRUCTION, INC.		\$2.750	\$41,283.00	+37.5%
2	FANN CON	TRACTING, INC		\$1.500	\$22,518.00	-25.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$1.500	\$22,518.00	-25.0%
2020156	EACH	REMOVE (SIGN ASSEMBLY, POST,	AND FOUNDATION)			
Bid Rank	Department	Estimate	22.000	\$800.000	\$17,600.00	
1	FNF CONS	TRUCTION, INC.		\$300.000	\$6,600.00	-62.5%
2	FANN CON	TRACTING, INC		\$300.000	\$6,600.00	-62.5%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$170.000	\$3,740.00	-78.8%
2030112	L.FT.	SHOULDER BUILD-UP (MILLED AC)			
Bid Rank	Department	: Estimate	98,295.000	\$0.750	\$73,721.25	
1	FNF CONS	TRUCTION, INC.		\$0.600	\$58,977.00	-20.0%

Printed: 7/25/2025 Page 3 of 12

2030112	Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2 FANN CONTRACTING, INC \$12.00 \$117,954,00 +60.0% 2030113 HOUR SHOULDER BUILD-UP (COMPACTION) \$0.300 \$29,488.50 -60.0% Bid Rank Department Estimate 103,000 \$125,000 \$11,845.00 -8.0% 1 FINE CONSTRUCTION, INC. \$115,000 \$11,845.00 -8.0% 2 FANN CONTRACTING, INC \$95,000 \$9,785.00 -24.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$115,000 \$11,845.00 -8.0% 4040111 TON BITMINIOUS TACK COAT BIBMINIOUS TACK COAT \$15,000 \$23,700.00 1 FINE CONSTRUCTION, INC. \$495,000 \$23,700.00 -23,8% 2 FANN CONTRACTING, INC \$100,000 \$34,800.00 +7.7% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$500.000 \$34,800.00 +7.7% 4040116 HOUR APPLY SHITMINOUS TACK COAT \$200.000 \$33,000.00 +7.7% 4040116 HOUR APPLY SHITMINOUS TACK COAT \$200.000 \$33,000.00 +22.5%	2030112	L.FT.	SHOULDER BUILD-UP (MILLED A	(C)			
3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.300 \$29,488.50 -60.0%	Bid Rank	Department	Estimate	98,295.000	\$0.750	\$73,721.25	
2030113	2	FANN CON	TRACTING, INC		\$1.200	\$117,954.00	+60.0%
Bid Rank Department Estimate 103.000 \$125.000 \$12.875.00	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.300	\$29,488.50	-60.0%
FNF CONSTRUCTION, INC. \$115.000 \$11,845.00 \$8.0% \$2.40% \$3.5000 \$9,785.00 \$2.40% \$3.5000 \$9,785.00 \$2.40% \$3.5000 \$9,785.00 \$2.40% \$3.5000 \$3.700.00 \$3.	2030113	HOUR	SHOULDER BUILD-UP (COMPAC	TION)			
FANN CONTRACTING, INC \$95,000 \$9,785,00 -24,0%	Bid Rank	Department	Estimate	103.000	\$125.000	\$12,875.00	
3 SUNLAND ASPHALT & CONSTRUCTION LLC \$115.000 \$11,845.00 -8.0%	1	FNF CONS	TRUCTION, INC.		\$115.000	\$11,845.00	-8.0%
A040111	2	FANN CON	TRACTING, INC		\$95.000	\$9,785.00	-24.0%
Bid Rank Department Estimate 58.000 \$650.000 \$37,700.00	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$115.000	\$11,845.00	-8.0%
1 FNF CONSTRUCTION, INC. \$495,000 \$28,710.00 -23.8% 2 FANN CONTRACTING, INC \$700.000 \$40,600.00 +77.7% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$600.000 \$34,800.00 -77.7% 4040116 HOUR APPLY BITUMINOUS TACK COAT BIG Rank Department Estimate 165.000 \$200.000 \$33,000.00 1 FNF CONSTRUCTION, INC. \$245.000 \$40,425.00 +22.5% 2 FANN CONTRACTING, INC. \$275.000 \$45,375.00 +22.5% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$28,875.00 +12.5% 4040125 TON FOG COAT \$175.000 \$55,500.00 -12.5% Bid Rank Department Estimate 74.000 \$750.000 \$55,500.00 -20.0% 2 FANN CONTRACTING, INC. \$600.000 \$44,400.00 -20.0% 2 FANN CONTRACTING, INC \$700.000 \$51,800.00 -6.7% 4040159 \$Q.YD. COVER MATERIAL \$2,000 \$339,580.00 +0.0%	4040111	TON	BITUMINOUS TACK COAT				
2 FANN CONTRACTING, INC \$700.000 \$40,600.00 +7.7% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$600.000 \$34,800.00 -7.7% 4040116 HOUR APPLY BITUMINOUS TACK COAT \$600.000 \$33,000.00 Bid Rank Department Estimate 165.000 \$200.000 \$33,000.00 1 FNF CONSTRUCTION, INC. \$245.000 \$40,425.00 +22.5% 2 FANN CONTRACTING, INC \$275.000 \$45,375.00 +37.5% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$28,875.00 -12.5% 4040125 TON FOG COAT FOR COAT \$600.000 \$44,400.00 -20.0% Bid Rank Department Estimate 74.000 \$750.000 \$55,500.00 -20.0% 2 FANN CONTRACTING, INC \$600.000 \$44,400.00 -20.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$339,580.00 -6.7% 4040159 SQ.YD. COVER MATERIAL \$2,200 \$339,580.00 -0.0% Bid Rank	Bid Rank	Department	Estimate	58.000	\$650.000	\$37,700.00	
3 SUNLAND ASPHALT & CONSTRUCTION LLC \$600.000 \$34,800.00 -7.7%	1	FNF CONS	TRUCTION, INC.		\$495.000	\$28,710.00	-23.8%
A040116	2	FANN CON	TRACTING, INC		\$700.000	\$40,600.00	+7.7%
Bid Rank Department Estimate 165.000 \$200.000 \$33,000.00 1 FNF CONSTRUCTION, INC. \$245.000 \$40,425.00 +22.5% 2 FANN CONTRACTING, INC \$275.000 \$45,375.00 +37.5% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$28,875.00 -12.5% 4040125 TON FOG COAT FOG COAT \$750.000 \$55,500.00 1 FNF CONSTRUCTION, INC. \$600.000 \$44,400.00 -20.0% 2 FANN CONTRACTING, INC \$940.000 \$69,560.00 +25.3% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$51,800.00 -6.7% 4040159 SQ.YD. COVER MATERIAL \$2000 \$339,580.00 +0.0% 4040169 SQ.YD. COVER MATERIAL \$2.000 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC. \$2.200 \$339,580.00 +0.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATER	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$600.000	\$34,800.00	-7.7%
1 FNF CONSTRUCTION, INC. \$245.000 \$40,425.00 +22.5% 2 FANN CONTRACTING, INC \$275.000 \$45,375.00 +37.5% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$28,875.00 -12.5% 4040125 TON FOG COAT FOG COAT *** *** Bid Rank Department Estimate 74.000 \$750.000 \$55,500.00 -20.0% 1 FNF CONSTRUCTION, INC. \$600.000 \$44,400.00 -20.0% 2 FANN CONTRACTING, INC \$940.000 \$69,560.00 +25.3% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$51,800.00 -6.7% 4040159 SQ.YD. COVER MATERIAL \$2000 \$339,580.00 +0.0% 4040159 SQ.YD. COVER MATERIAL \$2.200 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC. \$2.200 \$339,580.00 +0.0% 4040165 SQ.YD. BLOTTER MATERIAL \$2.250 \$382,027.50 +12.5% Bid Rank Department Es	4040116	HOUR	APPLY BITUMINOUS TACK COAT	•			
2 FANN CONTRACTING, INC \$275.000 \$45,375.00 +37.5% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$28,875.00 -12.5% 4040125 TON FOG COAT \$750.000 \$55,500.00 Bid Rank Department Estimate 74.000 \$750.000 \$55,500.00 1 FNF CONSTRUCTION, INC. \$600.000 \$44,400.00 -20.0% 2 FANN CONTRACTING, INC \$940.000 \$69,560.00 +25.3% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$51,800.00 -6.7% 4040159 SQ.YD. COVER MATERIAL \$2.000 \$339,580.00 +0.0% 4040159 SQ.YD. COVER MATERIAL \$2.000 \$339,580.00 +0.0% 1 FNF CONSTRUCTION, INC. \$2.200 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC \$2.800 \$475,412.00 +40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL 8,228.0	Bid Rank	Department	Estimate	165.000	\$200.000	\$33,000.00	
3 SUNLAND ASPHALT & CONSTRUCTION LLC \$175.000 \$28,875.00 -12.5%	1	FNF CONS	TRUCTION, INC.		\$245.000	\$40,425.00	+22.5%
High Rank Department Estimate T4.000 \$750.000 \$55,500.00	2	FANN CON	TRACTING, INC		\$275.000	\$45,375.00	+37.5%
Bid Rank Department Estimate 74.000 \$750.000 \$55,500.00 1 FNF CONSTRUCTION, INC. \$600.000 \$44,400.00 -20.0% 2 FANN CONTRACTING, INC \$940.000 \$69,560.00 +25.3% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$51,800.00 -6.7% 4040159 SQ.YD. COVER MATERIAL SQ.YD. \$2.000 \$339,580.00 1 FNF CONSTRUCTION, INC. \$2.000 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC. \$2.800 \$475,412.00 +40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL 8,228.000 \$1.000 \$8,228.00 4040165 SQ.YD. BLOTTER MATERIAL \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC. \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC <t< td=""><td>3</td><td>SUNLAND A</td><td>ASPHALT & CONSTRUCTION LLC</td><td></td><td>\$175.000</td><td>\$28,875.00</td><td>-12.5%</td></t<>	3	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$175.000	\$28,875.00	-12.5%
1 FNF CONSTRUCTION, INC. \$600.000 \$44,400.00 -20.0% 2 FANN CONTRACTING, INC \$940.000 \$69,560.00 +25.3% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$51,800.00 -6.7% 4040159 SQ.YD. COVER MATERIAL SQ.YD. SQ.YD. COVER MATERIAL Bid Rank Department Estimate 169,790.000 \$2.000 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC \$2.000 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC \$2.800 \$475,412.00 +40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL 8,228.000 \$1.000 \$8,228.00 4040165 SQ.YD. BLOTTER MATERIAL \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230	4040125	TON	FOG COAT				
2 FANN CONTRACTING, INC \$940.000 \$69,560.00 +25.3% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$51,800.00 -6.7% 4040159 SQ.YD. COVER MATERIAL SQ.YD. \$339,580.00 +0.0% Bid Rank Department Estimate 169,790.000 \$2.000 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC \$2.800 \$475,412.00 +40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL 8,228.000 \$1.000 \$8,228.00 4040165 SQ.YD. BLOTTER MATERIAL \$0.250 \$2,057.00 -75.0% 2 FANN CONTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) \$850.000 \$1,318,350.00 Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00 <td>Bid Rank</td> <td>Department</td> <td>Estimate</td> <td>74.000</td> <td>\$750.000</td> <td>\$55,500.00</td> <td></td>	Bid Rank	Department	Estimate	74.000	\$750.000	\$55,500.00	
3 SUNLAND ASPHALT & CONSTRUCTION LLC \$700.000 \$51,800.00 -6.7%	1	FNF CONS	TRUCTION, INC.		\$600.000	\$44,400.00	-20.0%
A040159 SQ.YD. COVER MATERIAL	2	FANN CON	TRACTING, INC		\$940.000	\$69,560.00	+25.3%
Bid Rank Department Estimate 169,790.000 \$2.000 \$339,580.00 1 FNF CONSTRUCTION, INC. \$2.000 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC \$2.800 \$475,412.00 +40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL 8,228.000 \$1.000 \$8,228.00 1 FNF CONSTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) \$850.000 \$1,318,350.00	3	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$700.000	\$51,800.00	-6.7%
1 FNF CONSTRUCTION, INC. \$2.000 \$339,580.00 +0.0% 2 FANN CONTRACTING, INC \$2.800 \$475,412.00 +40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 8,228.000 \$1.000 \$8,228.00 1 FNF CONSTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) \$850.000 \$1,318,350.00 Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	4040159	SQ.YD.	COVER MATERIAL				
2 FANN CONTRACTING, INC \$2.800 \$475,412.00 +40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL 8,228.000 \$1.000 \$8,228.00 Bid Rank Department Estimate 8,228.000 \$1.000 \$8,228.00 1 FNF CONSTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	Bid Rank	Department	Estimate	169,790.000	\$2.000	\$339,580.00	
3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.250 \$382,027.50 +12.5% 4040165 SQ.YD. BLOTTER MATERIAL 8,228.000 \$1.000 \$8,228.00 Bid Rank Department Estimate 8,228.000 \$1.000 \$8,228.00 1 FNF CONSTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) \$850.000 \$1,318,350.00 Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	1	FNF CONS	TRUCTION, INC.		\$2.000	\$339,580.00	+0.0%
4040165 SQ.YD. BLOTTER MATERIAL Bid Rank Department Estimate 8,228.000 \$1.000 \$8,228.00 1 FNF CONSTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	2	FANN CON	TRACTING, INC		\$2.800	\$475,412.00	+40.0%
Bid Rank Department Estimate 8,228.000 \$1.000 \$8,228.00 1 FNF CONSTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) \$850.000 \$1,318,350.00	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$2.250	\$382,027.50	+12.5%
1 FNF CONSTRUCTION, INC. \$0.250 \$2,057.00 -75.0% 2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	4040165	SQ.YD.	BLOTTER MATERIAL				
2 FANN CONTRACTING, INC \$0.250 \$2,057.00 -75.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	Bid Rank	Department	Estimate	8,228.000	\$1.000	\$8,228.00	
3 SUNLAND ASPHALT & CONSTRUCTION LLC \$0.250 \$2,057.00 -75.0% 4040230 TON ASPHALT BINDER (PG 76-22 PM) 850.000 \$1,318,350.00 Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	1	FNF CONS	TRUCTION, INC.		\$0.250	\$2,057.00	-75.0%
4040230 TON ASPHALT BINDER (PG 76-22 PM) Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	2	FANN CON	TRACTING, INC		\$0.250	\$2,057.00	-75.0%
Bid Rank Department Estimate 1,551.000 \$850.000 \$1,318,350.00	3	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$0.250	\$2,057.00	-75.0%
·	4040230	TON	ASPHALT BINDER (PG 76-22 PM				
1 FNF CONSTRUCTION, INC. \$590.000 \$915,090.00 -30.6%	Bid Rank	Department	Estimate	1,551.000	\$850.000	\$1,318,350.00	
	1	FNF CONS	TRUCTION, INC.		\$590.000	\$915,090.00	-30.6%
2 FANN CONTRACTING, INC \$620.000 \$961,620.00 -27.1%	2	FANN CON	TRACTING, INC		\$620.000	\$961,620.00	-27.1%

Printed: 7/25/2025 Page 4 of 12

Item Number	Unit of Measure Item	Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040230	TON ASP	HALT BINDER (PG 76-22 PM)				
Bid Rank	Department Estimat	e	1,551.000	\$850.000	\$1,318,350.00	
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$760.000	\$1,178,760.00	-10.6%
4040288	TON ASP	HALT BINDER (PG 70-22 TR+)				
Bid Rank	Department Estimat	e	319.000	\$1,000.000	\$319,000.00	
1	FNF CONSTRUCTI	ON, INC.		\$675.000	\$215,325.00	-32.5%
2	FANN CONTRACTI	NG, INC		\$990.000	\$315,810.00	-1.0%
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$760.000	\$242,440.00	-24.0%
4160004	TON ASP	HALTIC CONCRETE (3/4" MIX) (END PRODUCT) (SPE	CIAL MIX)		
Bid Rank	Department Estimat	e	31,008.000	\$80.000	\$2,480,640.00	
1	FNF CONSTRUCTI	ON, INC.		\$50.000	\$1,550,400.00	-37.5%
2	FANN CONTRACTI	NG, INC		\$70.000	\$2,170,560.00	-12.5%
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$90.000	\$2,790,720.00	+12.5%
4160031	TON MIN	ERAL ADMIXTURE				
Bid Rank	Department Estimat	e	292.000	\$90.000	\$26,280.00	
1	FNF CONSTRUCTI	ON, INC.		\$90.000	\$26,280.00	+0.0%
2	FANN CONTRACTI	NG, INC		\$90.000	\$26,280.00	+0.0%
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$90.000	\$26,280.00	+0.0%
5012918	L.FT. PIPE	CULVERT, 18"				
Bid Rank	Department Estimat	e	25.000	\$300.000	\$7,500.00	
1	FNF CONSTRUCTI	ON, INC.		\$425.000	\$10,625.00	+41.7%
2	FANN CONTRACTI	NG, INC		\$215.000	\$5,375.00	-28.3%
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$325.000	\$8,125.00	+8.3%
5014699	EACH MET	AL SAFETY END SECTION (DE	TAIL C)			
Bid Rank	Department Estimat	e	10.000	\$4,000.000	\$40,000.00	
1	FNF CONSTRUCTI	ON, INC.		\$3,500.000	\$35,000.00	-12.5%
2	FANN CONTRACTI	NG, INC		\$3,250.000	\$32,500.00	-18.8%
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$3,700.000	\$37,000.00	-7.5%
6080105	L.SUM REL	OCATE SIGNS				
Bid Rank	Department Estimat	e	1.000	\$1,600.000	\$1,600.00	
1	FNF CONSTRUCTI	ON, INC.		\$5,000.000	\$5,000.00	+212.5%
2	FANN CONTRACTI	NG, INC		\$920.000	\$920.00	-42.5%
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$4,000.000	\$4,000.00	+150.0%
7010025	EACH TEM	IPORARY IMPACT ATTENUATIO	N DEVICE (IN-LINE EN	IERGY ABSORBING	TERM.)	
Bid Rank	Department Estimat	e	19.000	\$1,500.000	\$28,500.00	
1	FNF CONSTRUCTI	ON, INC.		\$3,500.000	\$66,500.00	+133.3%
2	FANN CONTRACTI	NG, INC		\$2,400.000	\$45,600.00	+60.0%
3	SUNLAND ASPHAL	T & CONSTRUCTION LLC		\$2,150.000	\$40,850.00	+43.3%

Printed: 7/25/2025 Page 5 of 12

 Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7010026	EACH-DAY	TEMPORARY IMPACT ATTENUTIO	N DEVICE (IN-LINE ENE	RGY ABSORBING T	ERM.) (IN USE)	
Bid Rank	Department E	Estimate	133.000	\$40.000	\$5,320.00	
1	FNF CONST	RUCTION, INC.		\$52.000	\$6,916.00	+30.0%
2	FANN CONT	RACTING, INC		\$65.000	\$8,645.00	+62.5%
 3	SUNLAND A	SPHALT & CONSTRUCTION LLC		\$60.000	\$7,980.00	+50.0%
7015010	L.FT.	TEMPORARY CONCRETE BARRIE	R (INSTALLATION AND I	REMOVAL)		
Bid Rank	Department E	Estimate	5,025.000	\$18.000	\$90,450.00	
1	FNF CONST	RUCTION, INC.		\$30.000	\$150,750.00	+66.7%
2	FANN CONT	RACTING, INC		\$22.000	\$110,550.00	+22.2%
 3	SUNLAND A	SPHALT & CONSTRUCTION LLC		\$19.000	\$95,475.00	+5.6%
7015069	EACH	TEMPORARY PAVEMENT MARKER	RS (CHIP SEAL)			
Bid Rank	Department E	Estimate	1,500.000	\$2.000	\$3,000.00	
1	FNF CONST	RUCTION, INC.		\$3.500	\$5,250.00	+75.0%
2	FANN CONT	RACTING, INC		\$1.200	\$1,800.00	-40.0%
 3	SUNLAND A	SPHALT & CONSTRUCTION LLC		\$1.100	\$1,650.00	-45.0%
7015091	SQ.FT.	SPECIALTY SIGNS				
Bid Rank	Department E	Estimate	300.000	\$25.000	\$7,500.00	
1	FNF CONST	RUCTION, INC.		\$35.000	\$10,500.00	+40.0%
2	FANN CONT	RACTING, INC		\$22.000	\$6,600.00	-12.0%
 3	SUNLAND A	SPHALT & CONSTRUCTION LLC		\$5.500	\$1,650.00	-78.0%
7016020	L.FTDAY	TEMPORARY CONCRETE BARRIE	R (IN USE)			
Bid Rank	Department B	Estimate	35,175.000	\$0.200	\$7,035.00	
1	FNF CONST	RUCTION, INC.		\$0.250	\$8,793.75	+25.0%
2	FANN CONT	RACTING, INC		\$0.650	\$22,863.75	+225.0%
 3	SUNLAND A	SPHALT & CONSTRUCTION LLC		\$0.550	\$19,346.25	+175.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VEF	RT.PANEL, TUBULAR MA	ARKER)		
Bid Rank	Department B	Estimate	15,228.000	\$0.500	\$7,614.00	
1	FNF CONST	RUCTION, INC.		\$0.300	\$4,568.40	-40.0%
2	FANN CONT	RACTING, INC		\$0.500	\$7,614.00	+0.0%
 3	SUNLAND A	SPHALT & CONSTRUCTION LLC		\$0.250	\$3,807.00	-50.0%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL	. FLAG TREE)			
Bid Rank	Department E	Estimate	216.000	\$2.000	\$432.00	
1	FNF CONST	RUCTION, INC.		\$0.850	\$183.60	-57.5%
2	FANN CONT	RACTING, INC		\$1.000	\$216.00	-50.0%
3	SUNLAND A	SPHALT & CONSTRUCTION LLC		\$0.300	\$64.80	-85.0%
 7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department E	Estimate	254.000	\$1.000	\$254.00	
1	FNF CONST	RUCTION, INC.		\$0.750	\$190.50	-25.0%

Printed: 7/25/2025 Page 6 of 12

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016032	EACH-DAY PORTABLE SIGN STAND (RIGID)				_
Bid Rank	Department Estimate	254.000	\$1.000	\$254.00	
2	FANN CONTRACTING, INC		\$1.000	\$254.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$1.100	\$279.40	+10.0%
7016033	EACH-DAY PORTABLE SIGN STAND (SPRING	TYPE)			
Bid Rank	Department Estimate	1,038.000	\$1.000	\$1,038.00	
1	FNF CONSTRUCTION, INC.		\$2.000	\$2,076.00	+100.0%
2	FANN CONTRACTING, INC		\$1.000	\$1,038.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$1.100	\$1,141.80	+10.0%
7016035	EACH-DAY WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate	5,430.000	\$0.350	\$1,900.50	
1	FNF CONSTRUCTION, INC.		\$0.200	\$1,086.00	-42.9%
2	FANN CONTRACTING, INC		\$0.200	\$1,086.00	-42.9%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.120	\$651.60	-65.7%
7016037	EACH-DAY WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate	15,228.000	\$0.350	\$5,329.80	
1	FNF CONSTRUCTION, INC.		\$0.200	\$3,045.60	-42.9%
2	FANN CONTRACTING, INC		\$0.200	\$3,045.60	-42.9%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.120	\$1,827.36	-65.7%
7016038	EACH-DAY TRAFFIC CONE				
Bid Rank	Department Estimate	6,204.000	\$0.750	\$4,653.00	
1	FNF CONSTRUCTION, INC.		\$0.300	\$1,861.20	-60.0%
2	FANN CONTRACTING, INC		\$0.300	\$1,861.20	-60.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.120	\$744.48	-84.0%
7016039	EACH-DAY EMBEDDED SIGN POST				
Bid Rank	Department Estimate	6,344.000	\$1.000	\$6,344.00	
1	FNF CONSTRUCTION, INC.		\$0.200	\$1,268.80	-80.0%
2	FANN CONTRACTING, INC		\$1.000	\$6,344.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.200	\$1,268.80	-80.0%
7016050	EACH-DAY TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate	48.000	\$800.000	\$38,400.00	
1	FNF CONSTRUCTION, INC.		\$95.000	\$4,560.00	-88.1%
2	FANN CONTRACTING, INC		\$660.000	\$31,680.00	-17.5%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$400.000	\$19,200.00	-50.0%
7016051	EACH-DAY TEMPORARY SIGN (LESS THAN 10) S.F.)			
Bid Rank	Department Estimate	1,230.000	\$1.000	\$1,230.00	
1	FNF CONSTRUCTION, INC.		\$0.550	\$676.50	-45.0%
2	FANN CONTRACTING, INC		\$1.000	\$1,230.00	+0.0%

Printed: 7/25/2025 Page 7 of 12

Item Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016051	EACH-DAY TEMPORARY SIGN (LESS TI	HAN 10 S.F.)			
Bid Rank	Department Estimate	1,230.000	\$1.000	\$1,230.00	
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$0.700	\$861.00	-30.0%
7016052	EACH-DAY TEMPORARY SIGN (10 S.F. (OR MORE)			
Bid Rank	Department Estimate	2,014.000	\$1.500	\$3,021.00	
1	FNF CONSTRUCTION, INC.		\$1.500	\$3,021.00	+0.0%
2	FANN CONTRACTING, INC		\$1.000	\$2,014.00	-33.3%
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$0.850	\$1,711.90	-43.3%
7016067	EACH-DAY CHANGEABLE MESSAGE BO	OARD (CONTRACTOR FURNIS	SHED)		
Bid Rank	Department Estimate	502.000	\$50.000	\$25,100.00	
1	FNF CONSTRUCTION, INC.		\$30.000	\$15,060.00	-40.0%
2	FANN CONTRACTING, INC		\$45.000	\$22,590.00	-10.0%
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$45.000	\$22,590.00	-10.0%
7016071	HOUR PILOT VEHICLE WITH DRIVE	≣R			
Bid Rank	Department Estimate	340.000	\$75.000	\$25,500.00	
1	FNF CONSTRUCTION, INC.		\$85.000	\$28,900.00	+13.3%
2	FANN CONTRACTING, INC		\$80.000	\$27,200.00	+6.7%
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$70.000	\$23,800.00	-6.7%
7016075	HOUR FLAGGING SERVICES (CIVII	LIAN)			
Bid Rank	Department Estimate	810.000	\$55.000	\$44,550.00	
1	FNF CONSTRUCTION, INC.		\$70.000	\$56,700.00	+27.3%
2	FANN CONTRACTING, INC		\$58.000	\$46,980.00	+5.5%
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$57.500	\$46,575.00	+4.5%
7016079	HOUR FLAGGING SERVICES (UNIF	FORMED OFFICER)			
Bid Rank	Department Estimate	1,676.000	\$85.000	\$142,460.00	
1	FNF CONSTRUCTION, INC.		\$96.500	\$161,734.00	+13.5%
2	FANN CONTRACTING, INC		\$85.000	\$142,460.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$105.000	\$175,980.00	+23.5%
7030075	EACH DELINEATOR (SINGLE WHIT	E OR SINGLE YELLOW)			
Bid Rank	Department Estimate	114.000	\$200.000	\$22,800.00	
1	FNF CONSTRUCTION, INC.		\$100.000	\$11,400.00	-50.0%
2	FANN CONTRACTING, INC		\$165.000	\$18,810.00	-17.5%
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$100.000	\$11,400.00	-50.0%
7030080	EACH OBJECT MARKER (M-23) (TY	YPE 3)			
Bid Rank	Department Estimate	10.000	\$400.000	\$4,000.00	
1	FNF CONSTRUCTION, INC.		\$320.000	\$3,200.00	-20.0%
2	FANN CONTRACTING, INC		\$700.000	\$7,000.00	+75.0%
3	SUNLAND ASPHALT & CONSTRUCTION LL	.C	\$340.000	\$3,400.00	-15.0%

Printed: 7/25/2025 Page 8 of 12

 ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7030095	EACH	MILEPOST MARKER (S-10)				
Bid Rank	Department	Estimate	20.000	\$500.000	\$10,000.00	
1	FNF CONS	TRUCTION, INC.		\$275.000	\$5,500.00	-45.0%
2	FANN CON	TRACTING, INC		\$700.000	\$14,000.00	+40.0%
 3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$280.000	\$5,600.00	-44.0%
7040007	L.FT.	PAVEMENT MARKING (WHITE EX	TRUDED THERMOPLAST	TIC)(0.120")		
Bid Rank	Department	Estimate	162,527.000	\$0.750	\$121,895.25	
1	FNF CONS	TRUCTION, INC.		\$0.750	\$121,895.25	+0.0%
2	FANN CON	TRACTING, INC		\$0.700	\$113,768.90	-6.7%
 3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.650	\$105,642.55	-13.3%
7040008	L.FT.	PAVEMENT MARKING (YELLOW E	XTRUDED THERMOPLA	STIC)(0.120")		
Bid Rank	Department	Estimate	94,127.000	\$0.750	\$70,595.25	
1	FNF CONS	TRUCTION, INC.		\$0.750	\$70,595.25	+0.0%
2	FANN CON	TRACTING, INC		\$0.700	\$65,888.90	-6.7%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.650	\$61,182.55	-13.3%
 7040076	EACH	PAVEMENT LEGEND (EXTRUDED	THERMOPLASTIC)(ALK	YD)(0.120")		
Bid Rank	Department	Estimate	15.000	\$500.000	\$7,500.00	
1	FNF CONS	TRUCTION, INC.		\$155.000	\$2,325.00	-69.0%
2	FANN CON	TRACTING, INC		\$155.000	\$2,325.00	-69.0%
 3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$170.000	\$2,550.00	-66.0%
7040077	EACH	PAVEMENT SYMBOL (EXTRUDED	THERMOPLASTIC)(ALK	YD)(0.120")		
Bid Rank	Department	Estimate	35.000	\$450.000	\$15,750.00	
1	FNF CONS	TRUCTION, INC.		\$145.000	\$5,075.00	-67.8%
2	FANN CON	TRACTING, INC		\$155.000	\$5,425.00	-65.6%
 3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$140.000	\$4,900.00	-68.9%
 7060015	EACH	PAVEMENT MARKER, RAISED, TY	PE D			
Bid Rank	Department	Estimate	1,265.000	\$8.000	\$10,120.00	
1	FNF CONS	TRUCTION, INC.		\$3.500	\$4,427.50	-56.3%
2	FANN CON	TRACTING, INC		\$3.000	\$3,795.00	-62.5%
3	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$2.750	\$3,478.75	-65.6%
7060018	EACH	PAVEMENT MARKER, RAISED, TY	PE G			
Bid Rank	Department	Estimate	165.000	\$8.000	\$1,320.00	
1	FNF CONS	TRUCTION, INC.		\$3.500	\$577.50	-56.3%
2	FANN CON	TRACTING, INC		\$3.000	\$495.00	-62.5%
 3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$2.750	\$453.75	-65.6%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMEN	Γ MARKING (PAINTED) (V	VHITE)		
Bid Rank	Department		209,728.000	\$0.400	\$83,891.20	
1	FNF CONS	TRUCTION, INC.		\$0.200	\$41,945.60	-50.0%

Printed: 7/25/2025 Page 9 of 12

	ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
	7080201	L.FT.	WATERBORNE-TYPE I PAVEMEN	IT MARKING (PAINTED) ((WHITE)		
	Bid Rank	Department	Estimate	209,728.000	\$0.400	\$83,891.20	
	2	FANN CON	TRACTING, INC		\$0.150	\$31,459.20	-62.5%
	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.100	\$20,972.80	-75.0%
	7080202	L.FT.	WATERBORNE-TYPE I PAVEMEN	IT MARKING (PAINTED) ((YELLOW)		
	Bid Rank	Department	Estimate	125,502.000	\$0.400	\$50,200.80	
	1	FNF CONS	TRUCTION, INC.		\$0.200	\$25,100.40	-50.0%
	2	FANN CON	TRACTING, INC		\$0.150	\$18,825.30	-62.5%
	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$0.100	\$12,550.20	-75.0%
	7080206	EACH	WATERBORNE-TYPE I PAVEMEN	IT MARKING (PAINTED S	YMBOL) (ARROW)		
	Bid Rank	Department	Estimate	35.000	\$100.000	\$3,500.00	
	1	FNF CONS	TRUCTION, INC.		\$75.000	\$2,625.00	-25.0%
	2	FANN CON	TRACTING, INC		\$50.000	\$1,750.00	-50.0%
	3	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$70.000	\$2,450.00	-30.0%
	7080208	EACH	WATERBORNE-TYPE I PAVEMEN	IT MARKING (PAINTED L	EGEND) (ONLY)		
	Bid Rank	Department	Estimate	15.000	\$80.000	\$1,200.00	
	1	FNF CONS	TRUCTION, INC.		\$90.000	\$1,350.00	+12.5%
	2	FANN CON	TRACTING, INC		\$60.000	\$900.00	-25.0%
	3	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$75.000	\$1,125.00	-6.3%
	7330410	EACH	POLE FLASHER				
	Bid Rank	Department	Estimate	2.000	\$7,500.000	\$15,000.00	
	1	FNF CONS	TRUCTION, INC.		\$20,000.000	\$40,000.00	+166.7%
	2	FANN CON	TRACTING, INC		\$16,000.000	\$32,000.00	+113.3%
	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$4,300.000	\$8,600.00	-42.7%
	7350005	EACH	LOOP DETECTOR (COUNTER)				
	Bid Rank	Department	Estimate	2.000	\$10,000.000	\$20,000.00	
	1	FNF CONS	TRUCTION, INC.		\$12,500.000	\$25,000.00	+25.0%
	2	FANN CON	TRACTING, INC		\$13,000.000	\$26,000.00	+30.0%
	3	SUNLAND A	ASPHALT & CONSTRUCTION LLC		\$8,500.000	\$17,000.00	-15.0%
	8050003	ACRE	SEEDING (CLASS II)				
	Bid Rank	Department	Estimate	6.000	\$6,000.000	\$36,000.00	
	1	FNF CONS	TRUCTION, INC.		\$6,875.000	\$41,250.00	+14.6%
	2	FANN CON	TRACTING, INC		\$8,700.000	\$52,200.00	+45.0%
	3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$6,500.000	\$39,000.00	+8.3%
-	8101021	L.FT.	EROSION CONTROL (WATTLES)	(9")			
	Bid Rank	Department	,	2,025.000	\$3.000	\$6,075.00	
	1	•	TRUCTION, INC.	·	\$7.500	\$15,187.50	+150.0%
	2		TRACTING, INC		\$5.000	\$10,125.00	+66.7%

Printed: 7/25/2025 Page 10 of 12

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8101021	L.FT.	EROSION CONTROL (WATTLES) (9	")			
Bid Rank	Department	Estimate	2,025.000	\$3.000	\$6,075.00	
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$4.750	\$9,618.75	+58.3%
8101029	CU.YD.	EROSION CONTROL (ROCK MULC	H) ((DETAIL H)			
Bid Rank	Department	Estimate	30.000	\$300.000	\$9,000.00	
1	FNF CONS	TRUCTION, INC.		\$250.000	\$7,500.00	-16.7%
2	FANN CON	TRACTING, INC		\$250.000	\$7,500.00	-16.7%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$220.000	\$6,600.00	-26.7%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department	Estimate	1.000	\$825,000.000	\$825,000.00	
1	FNF CONS	TRUCTION, INC.		\$837,326.000	\$837,326.00	+1.5%
2	FANN CON	TRACTING, INC		\$890,000.000	\$890,000.00	+7.9%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$832,775.110	\$832,775.11	+0.9%
9030011	L.FT.	BARBED WIRE FENCE, TYPE 1				
Bid Rank	Department	Estimate	15,052.000	\$5.000	\$75,260.00	
1	FNF CONS	TRUCTION, INC.		\$5.000	\$75,260.00	+0.0%
2	FANN CON	TRACTING, INC		\$6.400	\$96,332.80	+28.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$5.000	\$75,260.00	+0.0%
9060031	EACH	CATTLE GUARD (3 UNIT)				
Bid Rank	Department	Estimate	1.000	\$25,000.000	\$25,000.00	
1	FNF CONS	TRUCTION, INC.		\$57,500.000	\$57,500.00	+130.0%
2	FANN CON	TRACTING, INC		\$35,000.000	\$35,000.00	+40.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$49,000.000	\$49,000.00	+96.0%
9060041	EACH	CATTLE GUARD (4 UNIT)				
Bid Rank	Department	Estimate	2.000	\$40,000.000	\$80,000.00	
1	FNF CONS	TRUCTION, INC.		\$67,500.000	\$135,000.00	+68.8%
2	FANN CON	TRACTING, INC		\$44,000.000	\$88,000.00	+10.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$59,000.000	\$118,000.00	+47.5%
9060051	EACH	CATTLE GUARD (5 UNIT)				
Bid Rank	Department		2.000	\$50,000.000	\$100,000.00	
1	FNF CONS	TRUCTION, INC.		\$77,500.000	\$155,000.00	+55.0%
2	FANN CON	TRACTING, INC		\$55,000.000	\$110,000.00	+10.0%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$67,000.000	\$134,000.00	+34.0%
9080502	L.FT.	CONCRETE FORD WALL ((2') (C-19	.10))			
Bid Rank	Department	Estimate	3,265.000	\$150.000	\$489,750.00	
1	FNF CONS	TRUCTION, INC.		\$127.000	\$414,655.00	-15.3%
2	FANN CON	TRACTING, INC		\$100.000	\$326,500.00	-33.3%
3	SUNLAND	ASPHALT & CONSTRUCTION LLC		\$97.250	\$317,521.25	-35.2%

Printed: 7/25/2025 Page 11 of 12

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080503	L.FT. CONCRETE FORD WALL ((4') (C-19.10))			
Bid Rank	Department Estimate	3,265.000	\$200.000	\$653,000.00	
1	FNF CONSTRUCTION, INC.		\$235.000	\$767,275.00	+17.5%
2	FANN CONTRACTING, INC		\$160.000	\$522,400.00	-20.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$170.000	\$555,050.00	-15.0%
9130001	CU.YD. RIPRAP (DUMPED)				
Bid Rank	Department Estimate	43.000	\$300.000	\$12,900.00	
1	FNF CONSTRUCTION, INC.		\$380.000	\$16,340.00	+26.7%
2	FANN CONTRACTING, INC		\$650.000	\$27,950.00	+116.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$425.000	\$18,275.00	+41.7%
9130005	CU.YD. RIPRAP (GABIONS)				
Bid Rank	Department Estimate	605.000	\$300.000	\$181,500.00	
1	FNF CONSTRUCTION, INC.		\$570.000	\$344,850.00	+90.0%
2	FANN CONTRACTING, INC		\$750.000	\$453,750.00	+150.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC	2	\$475.000	\$287,375.00	+58.3%
9230003	HOUR ON-THE-JOB TRAINING WITH	1 GOALS			
Bid Rank	Department Estimate	1,200.000	\$3.000	\$3,600.00	
1	FNF CONSTRUCTION, INC.		\$3.000	\$3,600.00	+0.0%
2	FANN CONTRACTING, INC		\$3.000	\$3,600.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC	2	\$3.000	\$3,600.00	+0.0%
9240011	L.SUM FORCE ACCOUNT WORK (REPAIR BASE MATERIAL)				
Bid Rank	Department Estimate	1.000	\$20,000.000	\$20,000.00	
1	FNF CONSTRUCTION, INC.		\$20,000.000	\$20,000.00	+0.0%
2	FANN CONTRACTING, INC		\$20,000.000	\$20,000.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC	2	\$20,000.000	\$20,000.00	+0.0%
9240129	SQ.YD. MISCELLANEOUS WORK (COMPACTED MILL AC)				
Bid Rank	Department Estimate	4,799.000	\$20.000	\$95,980.00	
1	FNF CONSTRUCTION, INC.		\$17.500	\$83,982.50	-12.5%
2	FANN CONTRACTING, INC		\$8.000	\$38,392.00	-60.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$12.250	\$58,787.75	-38.8%
9240130	EACH/DAY MISCELLANEOUS WORK (RADAR SPEED MONITOR TRAILER)				
Bid Rank	Department Estimate	244.000	\$50.000	\$12,200.00	
1	FNF CONSTRUCTION, INC.		\$45.000	\$10,980.00	-10.0%
2	FANN CONTRACTING, INC		\$30.000	\$7,320.00	-40.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC		\$65.000	\$15,860.00	+30.0%
9240170	L.SUM CONTRACTOR QUALITY CON	NTROL			
Bid Rank	Department Estimate	1.000	\$110,000.000	\$110,000.00	
1	FNF CONSTRUCTION, INC.		\$206,000.000	\$206,000.00	+87.3%

Printed: 7/25/2025 *** Bid Tabs for Proposal Pamphlet 2024031 *** Page 12 of 12

Unit of **Compared To** Item Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 9240170 L.SUM CONTRACTOR QUALITY CONTROL Bid Rank \$110,000.000 Department Estimate 1.000 \$110,000.00 2 FANN CONTRACTING, INC \$142,000.000 \$142,000.00 +29.1% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$165,000.000 \$165,000.00 +50.0% 9240181 SQ.YD. MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(MANUAL/MECHANICAL METHODS) Bid Rank Department Estimate 41,000.000 \$0.800 \$32,800.00 FNF CONSTRUCTION, INC. \$0.750 \$30,750.00 -6.3% 2 FANN CONTRACTING, INC \$0.700 \$28,700.00 -12.5% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$2.000 \$82,000.00 +150.0% 9240182 SQ.YD. MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS) (HERBICIDE) Bid Rank Department Estimate 51,000.000 \$0.500 \$25,500.00 1 FNF CONSTRUCTION, INC. \$0.700 \$35,700.00 +40.0% 2 FANN CONTRACTING, INC. \$0.500 \$25.500.00 +0.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$1.400 \$71,400.00 +180.0% 9250001 L.SUM CONSTRUCTION SURVEYING AND LAYOUT Bid Rank Department Estimate 1.000 \$100,000.000 \$100,000.00 1 FNF CONSTRUCTION, INC. \$120,000.000 \$120,000.00 +20.0% 2 -20.0% FANN CONTRACTING, INC \$80,046.020 \$80,046.02 3 +25.0% SUNLAND ASPHALT & CONSTRUCTION LLC \$125,000.000 \$125,000.00 9260001 MONTH **ENGINEERS FIELD OFFICE** Bid Rank 7.000 Department Estimate \$5,000.000 \$35,000.00 1 FNF CONSTRUCTION, INC. \$1,500.000 \$10,500.00 -70.0% 2 FANN CONTRACTING, INC. \$3,000.000 \$21,000.00 -40.0% 3 SUNLAND ASPHALT & CONSTRUCTION LLC \$6,500.000 \$45,500.00 +30.0% 9280034 L.FT. GROUND-IN RUMBLE STRIP (6 INCH) Bid Rank Department Estimate 129,947.000 \$0.300 \$38,984.10 -50.0% 1 FNF CONSTRUCTION, INC. \$0.150 \$19,492.05 2 FANN CONTRACTING, INC \$0.300 \$38,984.10 +0.0%

\$0.200

\$25,989.40

-33.3%

3

SUNLAND ASPHALT & CONSTRUCTION LLC